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αρχικό σημείο 
ισορροπίας

Qd=410 Qs=330

80
PΑ=20

Ed=-4/41
-4/41=β * 20/410
-4=β*2→ β=-2

410=α-2*20
α=450

Es=4/33
4/33=δ * 20/330
4=δ*2 → δ=2

330=γ+2*20
γ=290
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αρχικό σημείο 
ισορροπίας

Qd=410 Qs=330

80
PΑ=20

Qd=450-2*P

Qs=290+2*P

450-2P=290+2P
160=4P→Po=40

Qo=370
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αρχικό σημείο 
ισορροπίας

Qd=410 Qs=330

80
PΑ=20

Qd=450-2*P

Qs=290+2*P

(Qs-Qd)=60
290+2P-450+2P
=60
                 P=55
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νέο σημείο 
ισορροπίας

Qd=410 Qs=330

80
PΑ=20

(1): 370=γ+δ*20
(2): 410=γ+δ*40
(2-1): 40=20*δ
                 δ=2
                 γ=330 

   Qd=450-2*P
   Qs=290+2*P
    Qs’=330+2*P
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νέο σημείο 
ισορροπίας

Qd=410 Qs=330

80
PΑ=20

   Qd=450-2*P
   Qs=290+2*P
    Qs’=330+2*P

450-2P=330+2P
120=4P→Po’=30
Qo’=390

Po’=30

Qo’=390
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νέο σημείο 
ισορροπίας

Qd=410 Qs=330

80
PΑ=20

Po’=30

Qo’=390

ΣΔ1=370*40=14.800
ΣΔ2=390*30=11.700
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νέο σημείο 
ισορροπίας

Qd=410 Qs=330

80
PΑ=20

Po’=30

Qo’=390

Qs’=330+2*10=350
350=450-2*Pk → Pk=50

PB=10

350


